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Section | Marks 30
Arswer any 3 Questions Tom Q1 10 Q5 of Sccoon |

ot Sslve Sectron L & J1 g SEPARPATE Ansiw-

Q1 ) Form the followang information. prepare a statement showmg cost and profit per anit

et matenal Rs. 45.000

et labour 33.1/3% of direct material cost

Phirect eapenses 20% of direct materal cost and direct labour cost,
Factory overheads 19" of prime cost,

Oitiee & Adm. Expenses 25% of works cost.

Selling and disinbution exp. 10% of cost of goods <old

Linits produced ()

Lloits remamed unsold 0% of wuts produesd.

Profi 146 th ol Sales

2y Pronn the foilowing information prepare o Process Acconnt. Abnormal gain scconnl
and Normal Loss account

Lapat of raw mateal B units 0 Rs: A0 per umt
ireet Matesal Hs. 5624

IVirect wapes 25, 80040

Owerieads Rs. 8,000

Aciual outpat F50 units

Noml Loss I5%

Value of scrap per unit Rs 10 per unit

Q3) A Transpon service company is running live buses between two towns which anc S0
kiss apart. Seating capacity of cach bus is 50 passengers. The followmg particelars
werne oblzined from their books for Apnl. 2008:

Rs

Wages of davers, Conductors and cleaners 24,000
Sakuncs of office stall 100K
Ihesel Ol awd other (hl 35 ANKD
Repars and Maintenance 5,000
Taxation, INSUENCEs elc. 16.00K)
D¢ preciation 26,000
Imterest and other expenses 20,000
I, 39 0(K)

Actually passengers carmied were 75% ol seating capaeity. All busses run on all days ol the
monih, Bach bus made one round teip per day find out the cost per passenger k.

Conddl.... 2
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EXE ) b e Toliowsie iefoemiation, cadosile roonn days ol a hotel:

Moo of 1oons A0
Ciccujpancy Hate MR
Moo el datys o month A0
Mo al working months in i veur 7

i Por the followmg information calenlate what rent shouid be chareed Torcach

Py of sty

sivke room days 51,3000
douldle room days 22 A
thiee rooin dinys L300

tolial roce enl deceipts Bs, 62 46000

e ol stngle o 1o be fxed as 23" o double revm suit ol which rent is %0 of Lhe

el o three roodn S,

55 Ay erlee Acor 3
Ad Englainc o sl Cime 3%
it Fied ol
2 Wanalde Cosd
Hontep Dol
4y Badec
31 Suek Uit
o Ihtforential Oost
M Upportanity Cosl
LR

By Dilterentale between Cost Accounting and Management Accounting
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Section-2

Marks: 30

Mote: Attempr any three questions. Marks will be swarded for brevity and logical presentation,

o i

A) Dastinguish between marginzi costing and absorption costing. {4)
B The following data refer to a single product Flexi . manufactured by Hi Tech Computer Lud.

Bj

Q.3.
A)

Sale price Rs. 100
Material cost Rs. 60
Direct fabour cost Rs. 20
Facilittes cost ¢ Rs. | lakh per year (for a highly automated plant mainly iacludes rent,
wsurance, taxes and depreciation)
Findd owot: iy
2i Contribetion margin per uni
b} Hreak even point in rupees
¢} The required level of sale if company plans to iperéase fixed cost by 5% (for
improvement of quality) and achieve a desired profil of Rs. 2 lakh,

You have been approached by a friend who is seeking your adviee as to whether Lie should give
up his job as an engineer with a current salary of Rs, 20,000 per moath and go inte busmess of
his own ,assembling and seliing a compenent which he has invented. The cost of the compoenent
would be Rs. 250 and the selling price Rs.400. The demand of the component is expected 1o be

20(h units per month. Advise your friend whether to go for the business or not, (6)

What is margin of safety? How margin of safety can be improved? (4)

What is zero base budgeting? List cut its main advantages. (4}

B) Shocker company has the following sales budget for the next year:-

Quarter Units

1" 10,000
g 8,000
3 12,000



4" 14 500 contd.
Campany policy 15 16 have 2 fnished goods inventory at the end of each quarter equal 10 10% of
ihe niext quartet’™s sales.

What is the budeeted production for the thied quanier of the vear® (6)
{4
ABC Company needs 10,000 componenis for producing one of #s products. The company can
buy the compoaent from ihe market ot Rs. 100 per unit mstead of making it. ABC could not use
the released facilities in another manufacturing activity, Fixed overheads will continue be
meurred regasdless of the deciston. The cost data are as follows:-
Cost 0 make the part: {Rs.)
Direct materials 50
Dirsct labour 15
Variable overheads I
Fixed overheads 20
Total cost 95
Bind vt which option s desirable for ABC., (1005
Q5.
A A company has three divisions whose income statemenss sid bodancs shecis we suramensed
serdovoes
Div.X G v
Saies 5.00.000 7550000 LOG G
Opetaiing income 25,000 30,000 5.000
(Iperating assets 1,00,000 1=, 00,000 250,000

Cormpare and commeni on the relutive performance of the three divisions on the basis of :
apASSet m oveY
biProfit margin
¢IROI (10)

Thank you
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